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uksV& lHkh iz'u djuk vfuok;Z gSA

Attempt all questions.

[k.M–v@Section–A (RELATIVITY QUANTUM MECHANICS ATOM MOLECULAR AND 
NUCLEAR PHYSICS)

1- bZFkj dk vfLrRo fl¼ djus ds fy, ekbdylu eksjys iz;ksx dk foLrkjiwoZd o.kZu dhft,A 11

Explain in detail Michelson Morley experiment about existence of ether. 
2- (a) izdk'k dh izd`fr esa rjax o lewg osx esa laca/ LFkkfir dhft,A 6

Establish relation between wave and group velocities in nature of light.
(b) gkbtsucxZ vfuf'prrk dk fl¼kUr fyf[k,A 6

Write down Heisenberg uncertainty principle.
3- (a) Dok.Ve la[;k,sa D;k gSa \ cksj ijek.kq ekWMy ds vfHkxzghr fyf[k,A 6

What are quantum numbers ? Write down postulates of Bohr atom model.
(b) f}d mPp lajpuk mnkgj.k lfgr le>kb;sA 6

Explain double fine structure with example.

[k.M–c@Section–B (SOLID STATE PHYSICS AND SOLID STATE DEVICES AND 

ELECTRONICS)
4- pqEcdu pØ rFkk 'kSfFkY; gkfu dh O;k[;k dhft,A fl¼ dhft, fd izfr LFkkad vk;ru inkFkZ ds 

fy, izR;sd pqEcdu pØ esa 'kSfFkY; gkfu B–H ywi ds {ks=kiQy ds cjkcj gksrh gSA 11

Explain the cycle of magnetisation and hysterisis loss. Show  that hysterisis loss 
per cycle of magnetisation per unit volume of substance is equal to the area of 
B–H loop.

5- gkyW  iHz kko D;k gS \ fdlh Bkls  ds fy, gkyW  x.q kkda  ,oa gkyW  okYs Vts  ds fy, O;ta d fuxfer dhft,A 12

What is Hall effect ? Deduce expressions for the Hall coefficient and Hall voltage 
of a solid.

6- mHk;fu"B mRltZd fo/k esa PNP VªkaftLVj ds vfHkyk{kf.kd oØ izkIr djus gsrq vko';d ifjiFk 

cukb, ,oa oØksa dh O;k[;k dhft,A 12

Describe the method with the help of proper circuit diagram to draw the 
characteristic curves of a PNP transistor.
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